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BUSINESS MATHEMATICS

Paper - BCA-105

Time Allowed : Three Hours] [Maximum Marks : 40
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Note : All questions are compulsory.

s - 3 /Section - A
T%qA8 ue/ Objective Type Questions
5x1=5
Q.1. wE I & g7 Hifdry

Choose the correct answer.
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i) cosB x cosec6 @I AT 3)
(a) 1 (8) sind ' iii) 1 R o el ¥ A P T E
&) coth () seco (31) aEaaa:mw+mﬁi’rcﬁ
cosO x cosecH is equal to . (®) T = 3 agerd - 2
@ 1 (b) sin® . {J?)/
() cotf @ secd @:3@%—2%
aTey = 3 AIfeyeT - 2 gD
“ T2 s &)
i) I A= /: 3 _4} B= [S SJ TA+B 3 Which of the following relations is true?
: (a) Mode=Mean+ Median-
(31) [ j _3} (a) { 2 3 _ (b) Median =3 Mode -2 Mean
=1 -2 1 © Mode =3 Median -2 Mean
\(21( {2 3 ) 3 : (d) Mean= 3 Median — 2 Mode
2 1 () [2 —l] iv) aa@ﬁaswmﬁm%__'aﬁaﬂ%
- 7w & 21500/ @ T1000/- '
I -2
If A= 15 - :
[—3 4}, B=[5 SJ then A + B is (a) 3:1 \(5')/3'2
: (|) 34 (g) 43
(a) { 2 3 . 2 3 The ratio between the prices of two things is
2 o1 ® ], _if their prices are ¥1500/- and T1000/-
2 3 (a) 3:1 (b) 3:2
R | |
21 d) - (c) 34 d) 43
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(a) = (b) 1_36‘
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@usg - §/Section - B

o1g Sa<1g wed / Short Answer Type Questions

| | 5x2=10
Q2. #M Fa Hfdrg
1an 60°sin? 45° + cos? 60° tan 45°
Find value of
tan 60°sin” 45° + cos® 60° tan 45°
3ar/OR
YAI8- .
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(5)

Rig HT |

sin A
— cosec A + COtA
1—CcosA

Prove that

sin A
S cosec A+cot A
1-cosA

2 1
R A{3 2} ot qufgg A%~ 4A+71=0

Q.3. =
2 -1 5
IfA= 3 2 then show that A _4A+T71=0
argar/OR
1 2 -3
R A={2 3 2 ar A? zrra HI |
3 -3 4
1 2 -3
fA=|2 3 2 then find A%,
_ 3 -3 -4
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(1)

' . 11000
UTHTR ] []—“&10 1{) LJUH-“ '\[}I‘\U (H'r

Draw a histogram for the folIov\m
distribution.

TR | 5|13

g Tl‘equenc\_

|\/IdII\S class O—IOrIO 20’21}30
5 } J 18

Frequency

(7) (_—L)
2 wzamai @1 U 5:6 | afk F ST s §
S SrgT AT A ¢ Al &1 T 6.7 1 Qe
TRzt & 3 HIfTT |
Two numbers are in the ratio 5:6. If 5 1s added to

both the numbers the new ratio becomes 6:7. Find
both the numbers.

3rrar/ OR

af gu H @ud 2120/~ A 7FHR T150/- E’tnﬁa’r
g & @ua F faa ufdea & ofg g% 78 7@
HIFT | ]

The consumption of milk increase from I120/- to

T150/-. What is the percentage increase in the
consumption?

Q6. aFHas M y = xsinxlogx
Differentiate y = xsinxlogx
3ar/OR
(3x%+2x-5)
ﬂﬁ;‘.q 1 _,.._,___
ﬂwL 2x* +5x+1
1n_n(3x2 +2x- 5\
Find value of Lmzx PR
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(9) |
avz - 9/Section - C arerar /OR
e geig weT/Long Answer Type Questig, o3 (q)
2300
5 3 =/ £ IZ
@-) SX3 .o afe A E ?1 71||a>r;\‘§rﬁréﬁﬁml
Q.7. ﬁgﬁﬁﬂq(secA—tanA) I=sinA | -
1+sin A
2 31
Prove that (SGCA—tanA)Z — 1-sinA IfA={2 4 1 ‘ then find A™".
I+sin A 3 7 2]
39ar/OR
L
f«a [ QY. f= Ravw & o aga® s FRAT | U)
ﬁﬁ‘ﬂ';' cot| —+ Z_
9) CO‘( j 1 | 510]1015]520[2025[2530]3035]3540 |

311?{1%1 12 21‘28\33154‘ ‘ﬂl
Prove that cot( 2 + 9] cot [Z - 6’} =1 Find the mode for the distribution

Class | 5-10(10-15]15:20(202525
Frequency| 12 | 21 | B 33]54]65le
arer@ar/ OR
foret frerur & RRY A e o HIv |
ofw @i | 010 020[030]3040]40:50[ 5060 anolm%
e RINEIEITE

Qs mmu

30" x 32" x 93n
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Q.10.

()

(10)

Find the standard deviation for the distribution.

G o0 [10202030[3040]40:50| 5060 lo0-70[70:0]
quuencyE 01403020 i 10 \ 5 ‘

af? @ gyt B T T T5000/- B, TH 9Y B
20% T TR T R Y BT 12% B W 91 T
ar i agell @1 T qea e af I a1 faga
T T & |

L.

Two cows were purchased for Rs. 5000/-. If one

‘cow was sold at a profit of 20% and the other at a

loss of 12%. Find the purchase price of each cow
if they were sold for same price.

areran/ OR
fra T TR 9% T 3 & TG P BTl HE D1

30% ™ e & A garé ot Rma e T FY

afd wm ik 42/- T & A 1 o @ wa e ot
ﬁfﬁ@lﬁl‘{ | http:/fwww.onlinebu.com

After giving a discount of 9% on the selling price
a Pharma company gains 30%. Find the selling
price of the medicine if profit gained is ¥42/-. Find
also the cost price of the medicine.
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Q. WHTRe Hifdrg stian dx

0

Integrate j,x sin2x dx
0
YA/ OR
aﬁ y= eum X ?‘h ﬁ{g ?ﬁﬁi‘q

g2

2 dy ) dy
COS" x———(l+sinx)— =
P ( I x) I 0
If y=¢""" then prove that
2
2 fi'_‘y . d}
CoS” x—==—(l+sinx)—==0
dx* ( )a’x

0‘ e b b e b
e e e dledde
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